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M.A. (III"¥ Semester) Examination, 2021
ECONOMICS

(International Economics -1I)
Time Allowed : Three Hours

Maximum Marks : 70

gus - 3
SECTION - A
die: 9 T T P & DIl TS I UH 3P b
gl 1%10=10
Note : Attempt all ten questions. Each question carries
one mark.
Q. 1. () 3R JUR B & BRT ............. ol

The main cause for international trade was

(i) Y= FGeE ¥ HIA oo BRI
o @il
The balance of payments only involves the
calculation of .
(i) U TRBR 3O G BN AR .............
=l gl
a government devalue its currency.

(iv) Y= & &N B T fear S Gear @

E'51 31 PITIOI

(2)

Balance of payment deficit can be removed
through .

(V) e U ¥ 3iR I & a1 |t anidi®

9 o @ U gaid Rae g

is a systematic record of all the
economic transaction between one country
and rest of the world.
(vi) SIRIET AR & EWR AN BT Ngid e
ycraiea fosam ?
(31) Raepret
(§) =Rl
(F) gRTR 3R 3hefem
(

7) TR
Who propounded the opportunity cost theory

of international trade ?
(@) Ricardo
(b) Marshall
(c) Heckscher & Ohlin
(d) Haberler
(vii) F=fofeg & & oo IR @ ved HRE
odf R foeR foar 2

E-5131



(3)
Who among the following enunciated the
concept of single factoral terms of trade ?
(a) Jacob Viner
(b) Taussing
(c) G.S. Donens
(d) J.S.Mill

(viil) S SRIGT AUR & Y T8l &

(31) 3Ry 3w @& |

() & A B A

(|) fooel = FoRa

(@) T Bod A DI YA

Which is not an advantage of international
trade :

(a) Export of surplus production

(b) Import of defence material

(c) Dependence on foreign countries

(d) Availability of cheap raw materials

(x) Frfafea & ¥ oF-91 sRIgT =R & :
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(371) Widl & & JUR
(§) &l & § TuR
() <O & 9T TUR
(@ (@ 3R (|) =

PITIOI

(4)
Which of the following is international trade :
(a) Trade between provinces
(b) Trade between regions
(c) Trade between countries
(d) (b) & (c) both
(x) oA oM B Rigid e gRr wega foban
7 i :
(31) veH Rwe
(@) feag
(| Ropret
(?) 3V
Theory of comparative advantage was
presented by :
(@) Adam Smith

(b) Ricardo
(c) Hicks
(d) Arshad
guosg - d
SECTION - B
Aic:  fegl 5 UeHl @ A DI T® U 2 H®H
& &l 5x2=10

Note : Attempt any five questions. Each question carries
2 marks.

Q. 2. 3 @Y W T (25-30 ) :
Very short answer type questions (25-30 words) :
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(5)

(1) SR 3o & 3T T 3R § P
What do you mean by International
Economics ?

(2) 3E¥R N T & ?

What is opportunity cost ?

(3) SR MR & T DI T0FT B IR & ?
How do you measure the gains from
International trade ?

(4) WIeH @ Far 3 @ ?

What is the meaning of tariff ?

(5) EREUT UYeH UWd wT & ?
What is protection effect ?

(6) YAM dqeW @ & ?

What is Balance of Payment ?

(7) ragead & 31 T 8 P

What is meaning of devaluation ?

gus - 9
SECTION - C
AMe:  fH=l 5 Tl B A DI IS U 4 3B
ok 5x4=20
Note : Attempt any five questions. Each question carries
4 marks.
Q. 3. @G FWI YT (250 IR)

Short answer type questions (250 words) :

(1) foc=ll =R o ddeaT & FHARE
Explain the concept of foreign trade
multiplier.
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e :

(6)

(2) ¥Rd & YW dgem @ Rfa &1 fagmw
Hifore|
Explain the position of India's Balance of
Payment.

(3) 9RA & 3P fodr & Wed -ifd & A @
e B
Explain the importance of tariff policy in the
economic development of India.

(4) YGa7 TUR JAT TRET & 3R P THIRC
Distinguish between free trade and protection.

(5) 3O 37 & YBR WL DITC|
Explain the types of Import quotas.

(6) TRE&UT WcH UHE T & ?
What is protection effect ?

(7) 96 T4 Y& AWR H ol H A4S Do
Distinguish between gross terms of trade
and net terms of trade.

Yusg - ©
SECTION - D
gl O U1 B 8 difoTel JAD UeT 10 3
FHEl 3x10=30

Note : Attempt any three questions. Each question

Q. 4.

carries 10 marks.

feaT® yea (500 v | 31fe)

Essay type questions (more than 500 words):

(1) R AR § B a9 I gHIfad F=A
e dcl @ fagaa S|
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(7)
Discuss the factors influencing profit
occurring from international trade.

(2) 3@HR NG T4 JoicAs Ngid df e

Fifsw|

Compare the opportunity cost-and
comparative cost theory.

(3) RAOR-3MEfed & M= fagd & '

Fifsw|

Explain Heckscher-Ohlin's general equilibrium
theory.

(4) MR & oAt R Y9G STe™ die Ucdhl BT ol

E-5131

FHifsw|

Describe the factors influencing the terms of
trade.

100



